1E&:
Rk
SRR :
VFETHMY :

_
i

EHERTEREEEE k TNITE

undersky
https://Id246.com/article/1479175367591
S

SR-HHEARHEE 4.0 Efx (CC BY-SA 4.0)


https://ld246.com
https://ld246.com/member/undersky
https://ld246.com/article/1479175367591
https://ld246.com
https://creativecommons.org/licenses/by-sa/4.0/

ERRERASEMINMER, BXNESERENOM).(7R, ERANEE)

%E@IEQEA%:
RN SIREGERAEEN, REIREIN-k+ 1 BYESEE, (BREPEEBHFEE.
HIFERE—MEL, IREMMEE P, p2 XM MEEHEIASE— AR, 1bpldtEks, AR
fFr—iEmE®s), HplRtRE—NER, pigftRIFiEmsERIBIEEKNMES.
KEEA:
int getK(Node *link, int k)
{

Node *p1, *p2;

inti;

if (link->next == NULL || k == 0)

return -1;

p1 = link->next;
fori=1;i<ki++)
{
if (p1->next == NULL)
return -1;
p1 = p1->next;
}
p2 = link->next;
while (p1->next != NULL)
{
p1 = p1->next;
p2 = p2->next;
}

return p2->number;

}
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/**************************************************************

Problem: S EEREKENDTTER, EXEREO(N)
User: xiaoming
Language: C

****************************************************************/

#include
#include

typedef struct node
{

int number;
struct node * next;
} Node;

int getK(Node *link, int k);
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int main()
{
int n, k, i, temp;
int flag;
while (scanf("%d %d", &n, &k) != EOF && n >= 0 && n <= 1000 && k >= 0 && k <= 1000)

{
Node *link = (Node *)malloc(sizeof(Node));

link->next = NULL,;
flag = 0;
Node *tail;
tail = link;
for(i=0;i<n;i++)
{
//scanf("%d", &temp);
Node *n = (Node *)malloc(sizeof(Node));
n->next = tail->next;
tail->next = n;
tail = tail->next;
n->number =i + 1;
}
int numberK = getK(link, k);
numberK == -1 ? printf("NULL\n") : printf("%d\n", numberK);
}
return O;
}
int getK(Node *link, int k)
{
Node *p1, *p2;
inti;
if (link->next == NULL || k == 0)
return -1;
p1 = link->next;
for(i=1;i<kji++)
{
if (p1->next == NULL)
return -1;
p1 = p1->next;

p2 = link->next;
while (p1->next '= NULL)

{
p1 = p1->next;
p2 = p2->next;
}
return p2->number;

}
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